
REŠENJA 
 
 

  
I 

 
1 C 11 B 
2 B 12 C 
3 B 13 C 
4 C 14 A 
5 A 15 A 
6 A 16 B 
7 C 17 B 
8 B 18 A 
9 A 19 B 
10 C 20 B 

 
 

II 
 
1 FENEK 11 IGLA 21 ŽUTA 
2 TRINITI 12 MILOŠ ŠESTIĆ 22 BOB ROK 
3 ŠKRGUTANJE ZUBIMA 13 BICIKL 23 KALMICI 
4 1978. 14 JAZAK 24 HABSBURŠKA 
5 ŠVEDSKA 15 IZ JAJETA 25 LOZNICA 
6 NOVI ZELAND 16 NAGASAKI 26 AGRA 
7 MOA 17 ŠAH 27 BITLSI 
8 DARVIN 18 VIKIPEDIJA 28 EUROTA 
9 TRIJAS 19 LEKARSKA 29 JANKO (SIBINJANIN) 
10 GRAD U MEKSIKU 20 AHURA MAZDA 30 RADERFORD 
 

III 
1. SLAGALICA:   TEREVENKA                                                              

2. SLAGALICA :    INTUICIJA 
 

1. BROJ :  ((5+2)*6*4+1))*3 = 507 
2. BROJ :  (9*4+4/4)*(9-4) = 185 
 

1. ASOCIJACIJA 
 

 
2. ASOCIJACIJA 

Kolona  A KALEM Kolona  A ŠTIPALJKA 
Kolona  B PAŠNJAK Kolona  B SUZA 
Kolona  C PULICER Kolona  C KOŽA 
Kolona  D NAUČNIK Kolona  D NIL 
 

Konačno 
 

 
MIHAJLO PUPIN 

 
Konačno 

 
KROKODIL 

 


